Stat 1350, Quiz #2, Spring 2015
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5. Researchers want to compare a new heart medication to one that’s already on the market.
They want to determine its effectiveness generally, and in relation to the current medication, so
they separate their 3600 heart patients into three groups using simple random sampling
methods and give one group the new medication, one group the old medication, and one group
a placebo. All t!he groups are asked to monitor their diet and exercise. Draw a diagram of the

experiment and label each piece appropriately, including the response variable to be measured.
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